[6+5+5+5+5 points] 3

3. In each of the following, if the given statement is true for all sequences {a,}%,, then mark the O to
the left of TRUE with a X ; otherwise, mark the O to the left of FALsE X and give a counterexample.
No explanation is required.

a.If a, <apy; forallm>1, then lima, = .

n—oo
O TRUE
\
M _FALSE, because it does not hold for a, =| — ;‘ forn>1
b.If lim a, =0, then ) a, converges.
n—oo el
O TRUE
. [
® FaLSE, because it does not hold for a,=| — forn>1
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c. If Zan converges, then {a,}>; converges.
n=1
@ TRUE
O FaLse, because it does not hold for a, = forn>1
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d.If0< o < an for alln 21, then ) a, diverges.

n=1
O TRUE
l
ELFALSE, because it does not hold for a, = Tl forn>1
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e.lf 0<ap<=foralln>1,then ) a, converges.
n n=1
O TRUE
l
K FaLse, because it does not hold for a, =| —— forn>1
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